P ——

Pﬁoﬁcnﬁ Mounting Kit - Fits R81101
-y R81110

Specifications
Manufacturer R&R Products

Replacement Parts

R101552 Chain - 1/4 x 6 Link
I R154210 Bar - Spring Assy
R319755 Washer - Spring Mt
R3254-6 Washer - Lock 3/8
R327970 Spacer - Spring Mt
0 R343657 Pin - Stop
R344094 Spring - F Tractors
R344364 Pin - Chain to Frame
R400266 Bolt - Hex HD 3/8-16 x
1-1/2
R400274 Bolt - Hex HD 3/8-16 x
2-1/2 GR5
R443110 Nut - 3/8-16 Hex
R453013 Washer - Flat 7/16
R460312 Pin - Hair Cotter
RET15804 Locknut - 3/8-16 Top
Lock

GERT KAUFMANN Golf Course Management
Graf-Buttler-Strasse 7 Haimhausen, 85778
+498133907773

https://golfkauf.rrproducts.com/




